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MSCCH-03
December - Examination 2019
M.Sc. (Previous) Chemistry Examination
Physical Chemistry

Paper - MSCCH-03
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 8x2=16

(Very Short Answer Questions)
Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) What do you understand by extensive and entensive
properties?

forecfiol G e T | Mg @R wEed 8 2

(i) Define heat of formation.

FEYIT hT HT pT RO BT

(iif) What is condition for spontaneity?

a: TgRT TP Y aReRE SR

(iv) What is meant by absolute entropy?

RE Teerdt | T dred g ?

(v) What is phase?
Taver fh Pgd g ?

(vi) What is incongruent melting?

IRAGHT T T B2

(vii) Write the equation for wavelength and energy of a particle
present in one dimension box.

UphioHT d1eT § fRIT @1 & folt TR e deim Seli ar
EINCARITCI
(viii) Calculate frequency of 40 mm radiation.

40 mm & AT 6T JIRT AT R

Section - B 4x8=32
(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
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(Tvs - 9)
(oTg TR UeA)

fAder: gl IR Al & IR ST 3T 3 IR Dl 3ferhad

2)

200 grect o AT HITTI T U9 8 3! & gl

Explain origin of Raman Spectra.
EE el I IR BT THSATS

What of the molecule does not show dipole moment and why?
orfeTRad o S AT o1v] foga Siel ugfefd el e_ar 3R @i ?
C.Cl,, H,0, CCl,, NH,

Prove that half life of a first order reaction does not depend
upon initial concentration.

Rig HIm 5 wem @ife 6t afifrar &t aref omy TRF
ST A qHIfI 8l et

Discuss the effect of temperature on reaction rate. What is
temperature coefficient?

IR & AT TR T BT TG IATSY | AT UM R dEd g ?

Explain why IR spectrum is given by polar molecule only?

SraRad e g et gRT € weffa g §1 dwsisy o ?

What is difference between Rayleigh effect and Raman effect?
T UG UG el IHTG H a7 3R g 2

What are photosensitized reactions? Explain with example.

TpTeT GUTE! SAMHIHATY T Bicll & ? IQTe-vl Afgd qam|

What do you understand by electronic polarisation?

SoITSID YauT H T TS & ?
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Section-C 2x16 =32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries
16 marks.
(Tvs - w)
(el ST T9d)

fAder : gl @ U9l & IR SIRMTI 31T 3109 IR B 3iferhad 500

10)

11)

12)

13)

grecl o gRIAIT HifS| U U9 16 3T &1 Bl

Describe the pastulates of quantum mechanics and discuss
their significance.

FITOCH ITf=Id & STTFIEIG! Dl RT DI T I ATefand
T Ui BT

Derive the integrated rate equation for the first order reaction
and hence show time taken for 3/4" completion of reaction

: 2303

is t/ log 4
qwaﬁ%aﬁﬁﬁmasw%ﬁéﬂﬂﬁwwaﬁweﬁﬁqw
Tg gaTsy Y IFAfhAT B 3/4 31T F FHT BN H S JHT T

a'éét 2ilo31g4

What is Carnot’s cycle? Derive the expression of the efficiency
of such a cycle taking an ideal gas as a working substance.

BT °eh AT ¢ ? ATGY 1 I fpanefier ugrel &1 wU o 8¢ 9
UhR & Tsh Dl P P oY sidh Gea= DIy

Draw and analyze the phase diagram of Zn-Mg system.

Zn-Mg T BT UTawIT 3TRG Wi TR IHepT fIeeiyor S|
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